3‘
!

?
|
|
|
!
|

\/\)e caon Solve
(BX+2)(X+2)=0D

! ‘
S S S
)
|

SX+2=0

*.22

X+25=0O

3 —3

OX=

X= ’2/3

X =

ABXT+IIX +p=0O
|Bx*

AX

5><2+Q)<+Q_><+(,9 S,
(3x2+QQ)+(2x+Qﬂ = P
BX(X+2)*t2(x+ )

2%

11

1M

_ Bn(an+5)—4

Gn-4) (an+5
50 -4=-0 2Mt5-5
_néébﬁn*@i

-3

Houwo can we colve

2

o

. { = QO
Bx+2)(x+2) =0
_Xt2=0 X+t3=0 Zero Prodoct
ot Nl L o W Proper%' [
SX=z2 . K=o
> 3
P o A= A
E - - Solve by F'a(‘;for\r\q
é@h‘z—k‘m:;zo OMake Sure i+
| 0 —20 SRUOUS Z2ero
,4,,\..,,},@mf—+”m—-zo =0 @ ractor
LN Tl2onZ
| 15N

24 \5/N-8n-200

an+S)=o

-0 , ,
® Zero Product Prop




3K2+72=33K

2 BX2+2T7X+10 =0

l=2vE -yl = —av e v

* | | (
AL ViCkor Nit o aceceutl into Hhe QU HNaet
—madeled the eauatnon N=—-lk2+2t + |
—here N is +he heignt n feex ang +
—Lig +he fime \n Secondads. Houo_\_or\guoqs o
“lihe ball n +he our ' Cagev Caugh#_,.,,
—the badl A 4+ cbove +hew-_grou_r\d A




